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PART - 1

GENERAL INTELLIGENCE & REASONING

questions no. 1406, select the related letter/

word /number fr-m the given alternatives.

1'

Directions : In questions no. 7 to 12, find the odd word/

B:81::64:_2

(A) 525 (B) 125 (O 250 (D) 625
ABCD:ZYXW::EFGH:_?7 _

(A} PONM (B XYZW

(C) TSRQ @) VUTS
Ect:Hlve::Dé-g:_I_

(A) Nest - (B) Kennel

() Coop (D) Stable

BDEG:MOPR::_7 _:oqrt
() Digi (B DKGI _(Q digi (D) dFg

ELJH:MTRP:: UBZX: 1

(A) DJIG (B) QHF
(0 CGCE (D) CBYA
Star : Constellation : : Soldier:_?
(A) Regiment (B) War
(O Bravery D) School

letters/ number pair from the given alternatives.

7.
8

10.

I.Il

12.

"13.

14.

(A) 1131  (B) 125 (O 343 Dy 729
(4) Diamond (B) Topaz

(O Ruby (D) Pearl

(A) 45 (B) 63 (O 108 D) 56
(A) BDEF ® QsTU

() IKIM M GHJK

{A) NOL (8) DEB

{Q RTP (D) HIF

{A) Mandolin (B) Guitar

{Q Drums (D) Violin

Which word comes last in the dictionary ?
bonanza, beautiful, balance, bottle

(A} bottle (B) bomanza

(C} beautiful (D) balance

Which word comes third in the dictionary ?
sefee, season; secret, seed

(A) seed (B) seize

(C) season

(D) secret

Directions : In questions no. 15 to 17, a serics is given

with

oné berm missing. Choose the correct alternative from the
given ones that will complete the series.

15.

16.

17.

21,

AFC, BHD, CJE, _2_ .

(A) DLH () DLF

(@ DHF ) DL

ZTO, YSN, XRM, _?

(A WIL (8) WPL

(O BHM (D) WQL
6,12,20,30,42, _2

(A4 (@B 48 (O 56 (D50

SELECTION is coded as 856539742 SESSION is
coded as :

(A) B397428
(O 8588742

() 8688472
(D) 8588427

Which one of the given responses can be added to
all the given letters to make meaningful words ?
oL__.

FR

™R ___
BR ___

S
(A) our (B _een (O eep (D) _ick

Sushma scored more than Deepal.. Rushil scored
as much as Ansh. Samhita scored [ess than Vasavi.
scored mare than Rushil. Vasavi scored less

than Ansh Wha scored the lowest ?

(A) Vasavi (B) Sambhita

(Y Decpak (D) Ansh
TOOLS is written as STOOL and WORDS is written
as

{A) SROWD (B) ROWDS

Q) SWORD (D) WORSD

[n a house there are eight 40 watt bulbs which are
bumning for 5 hrs a day and four 80 watt bulbs
buming for 10 hrs a day. If electricity costs T2 per

kilowatt per hour, what is the monthly bill ?
(A) T328 (B) T216
Q) T268 (D) T 288

SPACE FOR ROUGH WORK
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=l

T
qT Afgu wd adhvtad

frdw : WA A 18 6, e M faged F § wefum
AT/ TE TN F G
1. 8:61::64:_7
(A) 525 (B) 125 () 250 (D) 625
2 ABCD:ZYXW::EFGH:_1_
(A) PONM (B) XYzZw
() TSRQ (D) VUTS
3. AYWEaElEW g _?
(A) HfE (B) F=
© = D) FavEs
4 BDEG:MOPR:: _7 :oqrt
(A) Digi  (B) DRGI _ (O digi (D) dFg
5. ELJH:MTRP:: UBZX: &
(A) DIIG (B) CIHF
O GGE [0) CBYA
6  AR-EENEE -®fE. 2
(A) Tz B =
{Q = (D) Wraam
fEnm .y dan7d 29w 4 fed 7 faseal 9 8
fﬂﬂﬁ:ﬁﬂl&ﬁ;mmqﬁm
7 (A 1131 (B 125 (Q 343 (D) 729
8. (A Fm (B ww (O W (D) 99
9. (A) 45 ®) 63 (C 108 (D) 56
.10. (A) BDEF ® Q51U
C O KIM ©) GHIK
1. (A) NOL (B} DEB
© RIP (0) HIF
12, (A) HEfEA ® frR
Q) == () amafes
13, =EE A FE-m e wEe am i A

bonanza, beautiful, balance, baltle
(A) bottle (B bonanza
(O beautiful (D} balance

TR H WY T A wE W A
Se12e, Season, secret, seed
(A) seed

{O) season

(B) seize
(10} secret

fdor : v w15 217 ©F s fem g, fawd ww o
qat ﬁqwﬁﬂﬂ'ﬂﬂtwﬁmﬁﬂlﬂiﬁq
%1

15.

16.

7.

lgl

AFC,BHD,CJE, _7_
(A) DLH
() DHF
ZTO, SN XRM, 1
(&) WTL
[ BHM

b,12,20,30,42, _2
(A) 46 (B 48 (56 (O 50

SELECTION ¥ F2 W i 856539742 feren s £,

1 SESSION 1 foren wmom :

(A) B397428 (F) B68R8472
(C) 8588742 (D) 8588427

w1 ™ fawen fod mo wne Ayl # et W Wl

=i FEIEm?

. —
PR
TR ___
BR __..
- F—

(A) our (B) _een (O _ecp (@) _ick
g E AT A AE g e E s AN S
AUA 4 | died F A% A R FHH ) 2T K Fw
v A iy ) 9 & 3% sga s Y e
el

o) o

(B) WPL
0) WQL

(A) AT (B) Hiem

Q) 29w L) #a

TOOLS F1 STOOL foren wmar &, §t WORDS 1 foram
AN

(A) SROWD (B} ROWDS

(O) SWORD (Dy WORSD

U H 4097 & s e £ 9 U fea ¥ 56 we
EsfrpmEmamiF g 0w T
£ ofz fasel #t e T2 v feeme vl s ),

7 o= fam fFan gm?
(A) T328 @ T216
(C) T 268 (D) T 288

% w1 F fod v
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[dentify the wrong number in the given series.
21,45,72, 26,12, 54. 27
Oy 12

(a) 27 ® 45 (© 36

Directions : In questions no. 24 to 26, select the missing
number from the given altermatives.

2‘*

26.

YYY.

(A) 5 ® 9
7 9 4
6 8 ?
8 2 8
336 144 192
A AL @S Q) 6 ©) 7
M3 3
3 5 8
6 9 ?
126 135 168
(A) 9 @ 8 Q7 D) 6

If “ »* stands for +,° <" stands for ' x*,”" =" stands
for * + then '+’ for* =" which of the following is
correct ?

(A) 40+8+10x5-8=47

(B) 40x8+10+5-8=123

(O 40+8-10x5+8=314

(D) 40+8-10%x5+8= =35

In a row of houses, the house with a terrace is 25
from Jeft end and 4% from the rightend. How many
houses are there in the row ?

(D) 28

(A) 29 B) 26 Q 27

Kunal starts journey straight towards east by car.
After going 75 km, he turns his ¢ar to the left and
goes 25 km straight. Again he fums to the left, goes
a distance of 40 km straight, again he tumns to the
left and moves @ distance of 25 km. How far is he

from the starting point ?
(A) 150 km (B 35km
(O 25km @) 3 km

ml'

6 persons are playing a card game. Suresh is facing
Raghubir who is left of Ajay and to the right of
Pramod. Ajay is to the left of Dhiraj. Yogendraisto
be left of Pramod. 1f Dhiraj exchanges his seat with
Yogendra and Pramod with Raghubir, who will be
sitting to the left of Dhiraj ?

(A) Ajay (B) Yogendra
(O Raghubir D) Suresh

Raju travels 8 kmito the north, turns left and travels
1 kims, anyd then again turns right and covers another
5 ks, Then he turns to right and travels for 4 kms.
Haw far is he from the starting point 7

(A} 21km (B) 9km

© 13km D) 17km

Solve the equation using the below given valuesand
answer in numeric values.

c1=10 0 =6 A=15 O=3 O=9
(A+0)+0
(A) 10 ) 8

®) 6 Q 12

In question nos. 33 and 34 one or two statements are given
followed by two Conclusions land Il You have to consider
the statements to be true, even if it seems to be at variance
from commonly known facts. You are to decide which of
the given conclusions can definitely be drawn from the
given statements. Indicate your answer.

33.  Statements: All snakes are fishes.

All crocodiles are snakes:
M Allcrocedilesarefishes.
(IT) A sniakes arecrocodiles.
{A) Neither conclusian (f) nor (Tl) follow.
(B) Only eanclusion (I) follows.
(Q-Onlyconclusion (1) follows.
(), Bothconclusions (1) and (IT) follows.

Conclusions:

Statements:
( Maya runs faster than Swati.

() Lily runs faster than Maya.

(1) Swati runs faster than Lily.

If first two statements are true then third statemer
is

(A) Vague
(C) False

(B) True
(D) Uncertain

SPACE FOR ROUGH WORK
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23. € sumn ¥ nerm W #) ETH S
21,45, 72, 35,12, 54, 27
(A) 27 (B) 45 © 36 ) 12

v « e wm 24 26 ¥, fow y formed] 9 @ e wen
¥ &ifan

24,
25‘4.
Q6 o 7
2 7 3%
3.0 B
o0 N 2
126 135 168
(A} 9 (B) & Q 7 o) 6

27. m‘x't F_I_ltMJ*_thHJtMI_itr*_r
¥ fag oft '+ ¢ = % fa, A fa o @ FR-W
W E?
(A} 40 +B+10%5-8=47
(B) W0xB+=104+5-8=123
() 40=8-10x5+8w=314
(O} 40+8-10%5+8=-35

28. TS %1 UF FAR A, w9 g WEE a6l AR & o
3Eﬁtmmﬂmﬂqﬁtl Fan | fead we e

]

(A) 29 ® 26 Q 27 (D) 28

29. Fva FR A dhw gd T S a0 qE F@ E
75 fit A ¥ AR =% srrdt = ad nogmd ai
e 25 fardt man &1 ww fiee and gwar ¥ ofis Wi
40 Tl s &, =% e =md g & el 25 et wm

6 Efe UF HTE TH Ta T § 1 Goo Al & @A
@ FF 21 g & 9 s ) and Ar ik F
=fi #in & &) = ot w1 96 g € A=
v 3 A s &1 9% o it | s oy
T A dite wew oA €, A i ) apd s e
a1 T 7 b

A I @ W= (O RO T
31, U9 8 Pt saust i e & wnd yoe & af 4 s
s #, fer =t yaa § e s el e 8, 9w
Znd g € S 4 Fest = 1 T i = A

30,

faait @ B7
(A) 21 Tt @ ofeit
(© 12 feet @) 17 Tt
32, 4 fen o gEl F1wEm S0 9 S e Sty an
I HEARTE WA 1 E |
==10 0=6 A=150=3 0=9
(A+0)+0O
(A) 10 (B) 6 © 12 ) 8

uT W 33 5 34 U o7 9 v fou o €, Tawd
2 e (S Pee @ E s T Ea i i e
w91 9% v 99 ag 8 fim wim im0 s
Froig e # Fe fou o e F 9 wE-w e = 3 v
T Freren o W &1 S0 I =i fAfee S
33. wuw: # ol wofenl §
vt o afe §
fresd: () | W wofEl €
m sl
(A) A Fsed (1) 3.8 (1) Fresm @y
®) e Fred ) Fem £
(O Fag Fewd () fres §
(D)2 P (1) 3 () Freera €1

34w
M T R A S €
a fesf o | ¥ fa &

am) wnfs foret @ 0 g &
B T s wm A fnedt wd? afe Te 2 HEA el ¢ o) 6 B B
(A) 150 fpit (B 35t (A) FET= (B) W
(©Q 25 fadh Dy sofsst © FwE Oy sifrivaa

TF wid & o e
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Directions : In questions no. 35 and 36, you are given the
address of a town followed by four alternatives. Of these,
only one matches while the others have some mistakes.
You have to choose exactly the same as the given one as
your answer.

35[

Ms. Aruna Devi,
418/3 New Housing Colony,
Rajpur Road,
Dehradun 248 001
(A) Ms. Aruna Devi,
418/3 New Housing Colony,
Raipur Road,
Dehradun 248 001
(B) Ms. Aruna Devi,
418/3 New Housing Colony,
Rajpur Road,
Dehradun 248 101
(O Miss. Aruna Devi,
418/3 New Housing Colony,
Rajpur Road,
Dehradun 243 001
(D) Ms Aruna Devi,
416/3 New Housing Colony,

Rajpur Road,
Dehradun 248 001

Mrs. | Sympson
Braun & Braun Co. Ltd.

12, Kenneth Apartments
Vasant Vihar,
New Delhi - 110020

(A) Mrs. ] Sympson
Braun & Braun Co. Ltd.
12, Kenneth Apartment
Vasant Vihar
New Delhi - 110002

(B) Mrs. ]. Sympson
Bruan & Bruan Co. Ltd.
12, Kenneth Apartments
Vasant Vihar,
New Delhi - 110020

(@ Mrs. ] Sympson
Braun & Braun Co. Ltd.
12, Keneth Apartments
Vasant Vihar,
New Delhi.

(D) Mrs. ] Sympsen
Braun & Braun Co. Ltd.
12 Kenneth Apartments
Vasant Vihar,
New Delhi - 110020

Direction : Answer the question no. 37 and 38, based on
the following. Below are given some Roll Numbers of
candidates registered at different centres for an
examination. The first two digits from the left stand for the
centre code and the next four for the serial number of the
candidates registered at the centre.

39.

41

061391 041631 031863 069234
024268 046198 059721 011432
051491 010028 020063 046523
011432 050451 029378 _D40028

In which centre does the serial number 9234
oocur 7

fa) 05 (B) 02 (© 06 D) 0
How many candidates belong to centre 047

(A) 2 (®) 4 © 3 ©) 6

Suppose vou are a team leader and some discussion
AT0SE,

{A) You believe in over all participation.
(B) You listen to other point of view.
{C) You consider your ideas are supreme.

(D) You would be reluctant to accept the views of
others.

When some one directly criticises your behaviour,
how will you behave ?

(A) Ready toclose up and stop listening,

(B) Become upsetabout it.

(O Carefully listen to their opinion,

(D) Think of ways to change your behaviour.

You are asked to atbend a social function at your

friends’ hounge

(A) Youeannot spend time for this kind of function.

(B) Youacoept just to please your friend.

{C) ‘You are not willing because you dislike such
gathering.

(D) You may attend the function to maintain the
relationship.

Either he is educated or he is left out.

(A) Heisnot educated and he is not left out,
(B) Heis not left out.

(O Heisnoteducated.

(D) Heisnot educated and he is left out.

SPACE FOR ROUGH WORK
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frdor : weA e 35 it 36 A9 uw wer w1 v fom d
a¥ W fay e un fawedl ¥ A e TE @ I W
foerm & oAt o= o g9 mafal #1 9w e gf
g T i 7t fem 2

35.

Ms, Aruna Devi,

418/3 New Housing Colony,
Rajpur Road,

Dehradun 248 001

(A} Ms. ArunaDevi, - .
418/ % iew Housing Colony,
Raipur Road,
Dehradun 248 001

(B) Ms. Aruna Dévi,

418/3 New Housing Colony,
Rajpur Road,
Dehradun 248 101

(C) Miss. Aruna Devi,

418/3 New Housing Colony,
Rajpur Road,
Dehradun 248 001

. 418/3 New Housing Colony,

Rajpur Road,
Dehradun 248 001

Mrs. ] Sympson

Braun & Braun Co. Ltd.

12, Kenneth Apartments

Vasant Vihar,

New Delhi - 110020

(A) Mrs. ] Sympson
Braun & Braun Co. Ltd.
- 12, Kenneth Apartment
Vasant Vihar
+ New Delhi - 110002
(B) Mss. . Sympson
Bruan & Bruan Co. Ltd.
12, Kenneth Apartments
Vasant Vihar,
MNew Delhi - 110020
(C) Mis. ] Sympson
Braun & Braun Co. Ltd.
12, Keneth Apartments
Vasant Vihar,
New Delhi, -
(D) Mrs. ] Sympson
Braun & Braun Co. Ltd.
12, Kenneth Apartments
Vasant Vihar,
New Delhi - 110020

fordor : W W 37 sl 38 & Iow gy e g Al 9
fafvs =21 o uw vl & fov oA 32 anafddl & 0@
e feu T # ) A o e 9 ot 1w dEa § el
1 9R I H WOeiEa sl & sl fae ®

37.

11.

061391 041631 031863 069234
024268 046198 059721 011432
051491 010028 020063 046523
011432 050451 029378 040028

form e § wW g o234 i B2

A) 05 - @0z ©o (D) m
fem i aTT M E §7

(A) 2 ® 4 © 3 D) 6

WA o & #9 & F die § ol v e fon it &

i@

(A) 9 gt %1 wpiierl o favar vad §)

(B) 3 gEd W fowm oft g

(© a9 3773 fa=m B 728 F9 W

) =M gl & frew @ wiEn #0 F A
i

ofe ¢ A% =rven H w8 e w8 A A

a1 e w10 ?

(A) T T w73 % fere taw g andh i 3
% g e s En)

(B) T =i ¥ e B =i

(O T5H1 T4 F AEAgES T |

(D) T4 SATER Tt L J AIH w4 |

ot e frs % R v wenfas v { wive

T & fore = R

(A) T9 VR & 099 T e g v it 2 wd €

B MFH IR s F @
Hiwn & o 6

(C) =19 gog® 761 w1 © i a9 T i # g
W

D) M Haw 73 A fag 3w § afa 9
TEAN

namefimtnsm wdsrdt. :
(A) =% fafigs 78 & oiR =04 ver 4 9rEl ¢
(B) 363 g TE o1 ¥

(Q =% fafign =8 &)

() =% fafire 78l & s s v wig 1 &)

% &1l & o we
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When you feel tensions rising betwieen you and your
employer ?

{A) Reacttoharsh criticism in an emotional manner.
(B) Lash outat him your uncontrolled temper.
(C) Keepacoolconduct.

(D) Beafraid to disagree with your employer.

Out of 40 students, 16 go to Kannada and 27 o
English classes! If 5students overlap, select the Venn
diagram which shows :

(1) No.of students who heitherattend Kannada or
English classes,

(2) No. of students whoattend only English or only
Kannada classes.

A = Kannada classes B = English classes
@02 | 662

(A) (B) (€ D)

Select the Venn diagram that correctly shows the
relationship :

Coffee: Sugar : Tea

E O
|<% €59)|ON
@, | @) © o)

46. A piece of paper is folded and cut as shown below

47.

in the question figures. From the given answer
figures, indicate how it will appear when opened.

eE=
XB

A;uwerﬂgmu
© O
If a mirror is placed on the line MN, then which of

(A) (B)
the answer figure is the right image of the given
figure ?

Question figure

M sssmmemaen 1

-

g - !E

1
e

(4) (B) ©) ©)

Which answer figure will compléte the question
figure ?

ey
=
| m| 2| m
-
(D)

[A) (®) (<)

SPACE FOR ROUGH WORK .
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Aword is by only one set of numbers as
given in iny one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in the 2 matrices given
below. The columns and rows of Matrix | are
numbered from 0 to4 »nd that of Matrix Il from 5to
9, A letter from these matrices can be represented
first by its row and next by column number. Fore.g.
A can be represented by 12, 24 etc. R can be
represented by 57, 76 etc. ldentify the set for the
given words: ‘EAST

MATRIX-1 MATRIX-IT
oj1(2]13|4 S|6+24 819
ODJA|E|S|T|H 5 i PH1OLR4K]L
1ITIH|A|E|S 6 IKILIP|O|R
2IE|S|IT|HIA JMTO|RIK|L|P
3|HIALELS|T SILIPIOIRIK
4 1STTIHJA|E 9/|RIK|LI|P|O
(A) 44,32, 21,03 B 32,31,0204

0 20,433, 11 (D) 13,1214, 10
From the given answer figures, select the one in

which the question figure is hidden/embedded.
Question figure

Answer figures

(A) (B) (D)

FOR VISUALLY HANDICAIPED

CANDIDATES ONLY

Directions : In questions no. # and 45, select the related
letter/ word / number from the given alternatives.
44. Plant:Botany::__1
(A) Fossils : Chemistry
(B) Liver:Cardiology
© Cell:Cyrslogy
(D) -Heart: Psychology
45.) 81:27::93: _1
(A) 13 ® 39
(© 63 ™ 31
46.  1f Ram s the son of the brother of the father of Shyam
then Ram is Shyam's:
(A) Nephew B) Uncle
(O Cousin (D) Noneof the above
47.  From the given alternative words, select the word
which cannot be formed using the letters of the given
word :
PROFESSIONALISM
(A) SENSATION (B) MISSION
(O LESSON (D) SESSION
48.  Find the odd number from the givenalternatives.
(A) 6,36, 216 (8)-"5, 25,125
(O 4.16,123 D) 3.9.27
49, - Fipd the'wrong number in the given series:
216, 343, 516, 729, 1000
(A) 343 B 216
Q) 729 D) 516
50. Choose the cormect alternative from the given ones

that will complete the series.
0,261220,30, _2
(A) 35
(C) 40

(B 42
L) 37

SPACE FOR ROUGH WORK
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T - 1 e - 1
[ To[nT2[3]s ROEGE
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L|T|H|AJE}S] " [6|K[L|P]O[R
21E|SLTEA 7|IO|R|K|L}P
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(A) 44,32, 21,03 (B) 32,31,02 04
(@ 20,4333, 1 D) 13,1214, 10
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wes amphn fifia 81
WU gt
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| Ry l §
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(A) (B) () (D)
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47.

50.

e - 2 fagr (| 00 2
(A) HTames ; T faae

(B) F% : R Few (wfE )

(© e - wiiver e (EmgiEt=t)
(D) %88 WA

81:27::93: 7
(A) 13 (B) 39
() &3 ) 3

MmrmEfmES R EtsmEE T
77

(A) T (B) =

(© =0 E (D) T H A SE T
Frfafom faaes 3 4 98 = T Re mu a=s
F A W WG I T T = g
PROFESSIONALISM

(A) SENSATION (B) MISSION

(O LESSON (D) SESSION

fow wy faedt 5 A fawe W g

(&) 6,36, 216 (By 5.25.125

O 4,16, 128 ) 3,9,27

& e | e Hen 7R e

216, 343, 516, 729, 1000

(A) 343 B) 216

©Q 729 [0) 516

fam o el o A 38 i S SEn W W RO
0,2,6,12,20,30, _7_
(A) 35
© 40

(B) 42
(D) 37

TF & % o e
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PART - 11
GENERAL AWARENESS
Seeds are not enclosed in fruits in: 58, The density of water is greater than the density of
: kerosene, If the two are mixed ;
(A): mancaotylecons () gymospects (A) Kerosene dissolves in water
(O angiosperms (D) dicotyledons (B) They mix uniformly

The bacteria capable of converting nitrite to nitrate
is:

(A) Pseudomonas
(Q Nitrococeus

(B) Nilrosomoras
(D) Nitrobacter

o
L

Who addresses the joint sessions of the |-

parliament 7

(A) The Chairman of Rajya Sabha
(B) The Lok'SabhaSpeaker

(O The President

{D) The Prime Minister

DNAinacellisa:
(A) Amino acid (B) Fatty acid
{C) Carboxylic acid (D) Nucleic acid

‘Purna Swaraj’ was announced in the Indian

National Congress Session of :
(A) Nagpur (B) Karachi
() Calcutta (D} Lahore

Sahara Desert is in the continent of :

(A) Africa (B) Asia
(O Europe (D) America
Ashoka embraced Buddhism:

(A) Justbefore his death

(B) -When he was a Crown Prince
(C) Beiore the Kalinga war

(D) After the Kalinga war

61.

() Water floats on kerosene
(D} Kerosene floats on water

Who has recently been appointed the Chief
Economist and Senior Vice President of the World
Bank ?

(A) Jagdish Bhagwati

(8) Raghuram Rajan

(O) Justin Yifu Lin

(D) Kaushik Basu

Who chaired the Boundary Commission in 1947, to
Pakistan ?

(A) J.Nehru (B) Henderson Brooks
(O Krishna Menon (D) McMohan

Din-I-Mlahi was founded by :
(A) Shah Jahan (B) GuruNanak Dev
(© Kabir D) Akbar

Which of the following is usually not an air
pollutant ?

(A) Nitrous oxide

(B) Hydrocarbons

(D) Carbon dioxide

GNP differs from MNP due to;

(A) Intereston publicdebt

(B) Depreciation

(C) Netindirect taxes

0 Daract taxes

Which one of the following is used in making
pencils ?

(A) Black ash B) Graphite

{Q Charcoal (D) Bone black

The*3 B'e" - brokers, bankers and businessmen were
responsible for:

(A) French Revolution

(B) First World War

(C) The Great Depression

(D) Russian Revolution
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The rootless plant is :
(A) ginger (B) lemon
(Q lemna (D) banana

Disguised unemployment means :

(A) Insufficiency of capital structure to absarb the
large labour force

(B) More people working, than required

(O Willing to work and not getting the work

(D) Not getting work on all days throughout the
year

Highest Coffee growing state in India is :
(A) Maharashtra  (B) Tamil Nadu
(O Kamataka (D) Uttar Pradesh

Which of the following awards is given for
excellence in sports coaching 7

(A) Asjus Award

(#) DadaSaheb Phalke Award

(O Sahitya Academi Award

(D) Dronacharya Award

London is situated on the Banks of river :
(A) Tigris (B) Thames
{O) Tiber (D) Danube

Which one among the following states is smallest
inarea?

(A) Tamil Nadu
() Gujarat

(B) Andhra Pradesh
(D) Kamataka

Kolkata Knight Riders defeated which of the
following teams in the final match of IPL - 7 on
June 1, 2014 ?

(A) Kings XI Punjab

(B) Sun Risers Hyderabad

(O Chennai Super Kings

(D) Delhi Dare Devils

Name the portfolio held by Sri Pranab Mukherjee
before hewas elevated 25 President of India :

(A} External Affairs Minister
(B) Home Minist

(O Railway Minister

(D) Finance Minister

74.

Devaluation means :

(A) Depreciation of the fixed assets

(B) Increasein the currency.value in terms of foreign
currency

(O Reduction in the external value of currency

(D) Fail in valuation of the essentials in an economy

ATM means:

(A) Automated Teller Machine
(B  Any Time Money

(O All Timwe Money

(D) Automatic Teller Machine

First Indian to make a speech in Hindi before the
UN General Assembly was:

{A) Lal Krishna Advani

(B) Morarji Desai

() A B Vajpayee

(D) Lal Bahadur Shastri

Who is the winner of the prestigious Man Booker
Prize 2013 7

(A) Malala Yousufzai  (B) VikramSeth

(O HarukiMurakami (D) Eleanor Catton

The Indian recipient of Noble Peace Prize is:
(A) Mother Teressa

(B) AmartyaSen

(C) Hargovind Khurana

(D) Rabindra Nath Tagore

The first Muslim Woman ruler of India was :
(A) Begum Hazarat Mahal

(B) MNoorjahan

{0 Chandabibd

(D) Sultana Raziya

The lines joining places of equal values of horizontal -
compenent of earth’s magnetic fleld are called :
(A) Aclimic lines (B) lsoclinic lines

(©) lsogoniclines (D) Isodynamic lines

What kind of data can you send by e-mail ?
(A) Audio (B) Video -
() Pictures (D) All of the above

Identify the odd sports man among the following:
(A) Sachin Tendulkar  (B) Sunil Gavaskar
(O) Narain Karthikeyan (D) Vijay Hazare

Where is the permanent secretariat of the SAARC?
(A) Colombo (B) Kathmandu
(O New Delhi (D) Islamabad
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Which of the following is not a waste product
produced by plants 7

(A) Gum Arabic (B) Carbon dioxide
() Watervapour (D) Oxygen

Water is an excellent solvent because its molecules
are:

(A) Lightweight

(B) Neutral
(O Highly polar (D) Non-polar
Bamana is a :
(A) Undershrub (B) Shrub
(O Tree (D) Herb

Gas used for artificial ripening of fruits is:
(A) Propane (B) Methane
(O Ethane D) Acetylene

Red light is used in traffic signals, because :
(A) Red light disperses least

(B) Red is the symbol of danger

() Colourof blood is red

(D) Animalscan identify red

Deficiency of which vitamin causes Beri-beri 7
(A) Vitamin By, (B) Vitamin B,
({©) Vitamin B, (D) VitaminB,

Free and compulsory education for all children is
provided until they attain the age of :

(A) 21 years (B) 14 years

() 16 years (D) 1B years

Which country is the largest produder of raw Jute ?

{A) Myanmar (B) India
(C) Bangladesh (D) Pakistan

The characteristic of sound which distinguishes a
femalévoice from a male voice is called :

(A) quality (B) loudness
(@ pitch [O) phase

ﬁ!

lmF

Fundamental Rights are borrowed from the
constitutionof ;

(4) Australia .
(C) Amernica

(B) Russia

(D) Ireland
“Statue of liberty’ is the National Emblem of :
(A) Germany (B) Russia

() UK @) USA

Which one of the following is an example of joint
supply ? _
(A} Sugarand Coffes (B) Wooland Cotton

({C) PetrolandBus (D) Inkand Fountain Pen

The medicinal plant used in preparations for skin
Care is :

(A) Alocvera {B) Rauwolfia

{O) Cinchona (D) Amia

Ozone Day is celebrated on :

(A) 25% September (B) 5% June

(@ 21% April {0) 16M September
The highest peak of the Eastern Ghats of India is:
(A) Javadi hills (B) Annaizudi

() Shevroy hills (D) Mahendragiri

Which market forms allow [ree entry and exit of
firms?

(a), Oligopoly and Monopoly

(B) Monopoly and Monopolistic

(O Perfect and Monopolistic

{©) Perfectand Oligopoly

Soda ash is the name for :

(A) Sodium bicarbonate

(B) Hydrated sodium carbonate
(O Sodium hydroxide

(@) Anhydrous sodium carbonate
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PART - III
ENGLISH LANGUAGE AND COMPREHENSION

Direction : In Question no. 101 to 110, some part of the
sentences have errors and some are correct. Find out which
part of a sentence has an error and blacken the

oval [@®] corresponding to the appropriate letter {(A), (B),
{C). If a sentence is free from error, blacken the oval

corresponding to (D) in the Answer Sheet.

102

103.

104.

105,

106.

lm‘l

108.

-.I.Hj

Direction : In Question no, 111 to 115, sentences are given
with blanks to be filled in with an appropriate word(s):
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by
blackening the appropriate oval | @] in the Answer Sheel.

manslaughter.

111. He was convicted
(A) for B) to (O of D) from
112, Sonia disliked eating in the restaurant.
[A) noisy (B) noised
() noisily (D) noiseful
113. There's a cinema near the station, ?
(A) weren'tit (B) isn'tit
() aren’tit (D) isn't there
114. How much did you spend the roses ?
(A) of B) from () in (D) on
115. Thewi _ foralongtime and had no
courage to speak before the educated city crowd.
(A) adjusted (B) hesitated
{C} stood (D) pazed

Direction : In Question no. 116 to 120, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer sheet.

116. Garrulous

(A) confident (B) talkative

(O quarrelsome [0} articulate
117. Alternative

() varisty (B) change

{5 choice (D) barter
118. Audacious

(A) cruel (B) bold

() cowardly ) kind
119. Destruchve

(A) troublesome (B) apathetic

() damaging (D) pensive
120. Repugnance

(A) fragmentation (B} aversion

(C) absorption (D) representation
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Direction : In Question no, 121 to 125, choose the word
opposite in meaning to the given word and mark it in the
Answer Sheet.

121.

122.

l ﬂ‘l-

124.

1151-

Misery

(A) amity

(O} happiness
Audacious
(A) cultivated
(O ' mute

Externporaneoiis

(A) plarmed
(O) confined

88

22 BE

Feigned

(A). spurious
(Q strong
Boisterous
(A) Reserved
() Naughty

ey

83

(B) Bouncy
(D) Quiet

Direction : In Question no. 126 to 130, four alternatives are
given for the Idiom)\ Phrase. Choose the alternative which
best expresses the meaning of the Idiom’, Phrase and mark

it in the Answer Sheet.
126. Togetaway.
(A) to pass (B) toreach
(O} toescape (D) toface
127, Cheek by jowl.
{A) closetogether (B) rubbingcheeks
(O fighting (D) screaming
128. Toughact to follow.

130.

(4) difficult to act well

(B) acting skill is tough

(O acting like a tough man
(D) difficult to perform like that

To give the cold shoulder.
(A) toabusesomeone (B)  t0curse someont
(O tobeunfriendly (D) toabandonsomeone

Be in the eve of the storm.

(A) w0 be involved in a controversy

(B) tobe deeply involved in acrime

(C) tobe deeply involved inajob

(@) tobe deeply involved in a political movement

Direction : In Question no. 131 10135, the 1 and the last
sentences of the passage are numbered 1and 6. The rest of
the passage is split into four parts and named
P,Q, Rand 5. These four parts are not given in theiwr proper

order

_ Read the sentence and find out which of the four

combinations is correct. Then find the correct answer and
indicate it by blackening the dppropriate oval [ @ | in the
Answer Sheet. :

131.

132

134.

1. The king called his three daughters to know
from their own. lips which of them loved him
best. ,

Goneri), the eldest, declared that she had loved
her father more than words could give out.
Regan, the second daughter, said that without
the love of her father, she found all joy dead.
The words of Goneril delighted the king.
Cordelia said that she loved him according to
her duty, neither more nor less,

The king asked Cordelia to mend her speech.
PRQS (B) PRSQ

FSRQ (D) PQRS

Nick was bored with life.

He caught the same bus to work.

He did the same things in office.

He got up exactly at the same time.

Every day was exactly the same.

He came home at the same time.

B) SRPQ

D) PSRQ

1. 1f welook around us today,
that is shattered by violence,
the effects of which

aworld

we will find
continue to influence us.,
SRPQ (B QPSR
RSFQ (D) RPQS

Milton was bom in London n 1608 and was
educated at St. Paul’s School, London and at
Cambridge University.

After the execution of the king, Milton entered
the service of the commonwealth Government
in 1649 as Latin Secretary.

He obtained his MA degree at the age
of 24.

After six years he went on a tour in 1638,

He began writing "Paradise Lost’ in 1658.

. Hedied in 1674,
(A) PRSQ

(@ PSQR

=

shROEE FEP PR P

™

om0

(B) QRPS
. (D) PQRS
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135. An old man came and sat next to me.

| alzo noticed that his clothes were dirty and
almost in rags.

He had a long, white beard.

I asked him what he wanted.

He said that he wanted to tell my future.

[laughed and said that 1 did not believe in that
sort of thing.
(B) RQFS

(A) SQRP
D) RPSQ

gunmo T

(C) QPRS

Direction : In Question no. 136 to 145, a sentence has been
given in Active/Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Passive/ Active Voice and mark your angwer
in the Answer Sheet.

136. Did the sound disturb you 7
(A) Were you disturb by thesound 7
(B) Did you disturb the sound 2
(C) Was the sound distutbed by you ?
(D) Wereyou disturbed by the sound ?

They made him the President of the club.

(A) He was made the President of the club by them.

(B) The President of the club was made him by
them.

(C} They were made him the President of the club.

(D) “The President of the club was made them by
him.

137.

138. The king mocked at the servant.

(A) Theservant was to be mocked at by the king.
(B) The servant was mocked by the king.

(O Theservant was mocked at by the king,

(D} The servant was being mocked at by the king.

Danking has ruined many people.
(A} Many people are ruined by drinking.
(B) Many people has ruined drinking,
" {O Many people has been ruined by drinking,
(D) Many people have been ruined by drinking.

By this time he will have received my letter.

(4) The letter, by this time, has been delivized to
him.

(B) By this time the letter has been received by him.

{C) By this time my letter will have been recetved
by him.

(D) By this time the letter has reached him.

Has she worked out all the sums ?

(&) Haveal the sums been worked by her ?

(B) Have all the sums been worked out by her?

(C) Have all the sums worked out by her ?

D) Has all the sums been worked out by her?

139.

140.

141.

142. Send for the doctor.
(A} Let the doctor be sent.
(B) Let the doctor send for,
{0 Letthe doctor be sent for.
(13} Let the doctor send.

They will have to do the work sincerely,

(A) Thework will have to be done sincercly by them.

(B} The work will have been done Sincerely by
them.

{C) Sinceraly the work has been done by them.

(D) Thework is being done sincerely by then,

| have Becn given this book by my sister.
(A) This book was given by my sister,

(B) My sister gave me this book.

(O} My sister has given me this book.

(D) Tome this book was given by my sister.

Run home, please.

(A) You are requested to run home.

(B) You run home and thas is a request.
() Youare please to run home.

(D} Youare lold to nm home please.

Direction ; In Question no. 146 10155, a sentence/ a part of
the sentence is underlined. Below are given alternatives to
the underlined part at (A), (B), (C) which may improve the
sentence. Choose the correct alternative. [n case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

143,

134,

145.

146. The examination will commence from 7 December.

(A) at (B) in
(C) on (D) MNoimprovemant
147. This s the worst thing Sheila could have done.

(A) Sheila could have done more sworst thing.

(B) This is the most worst thing Sheila could have
done.

(C) Sheila could havedone it worst.

(D) Noimprovement

What did happen in the community hall is not a

matter of our concern ?

(A) What happens (B} What would happened

(O What happened (D) Noimprovement

The police failed in its attempt to disperse the crowd

before the miscreants set the fire on the bus.
{A) setthe buson fire

{B) setting fire on the bus
{©) setfirein thebus
{0} Noimprovement
Madhu prefers coffee to lea.

(A) over (B) for
() than (D) Noimprovement

148

149.

15‘“1-



151.

152.

153.

154,

155.
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| have read alittle of the book.

(4) afewpages (U} littlepages

(© all pages () Noimprovement
Every thing depend on them coming on time.
(A) depends upon them coming

(B) dependsuponthemcome

() depends upon their coming

(D) Noimprovement

Your parcel will have to arrive yet.

{A) isyettoarrive  (B) willarmve yet

(O isyetarriving (D) Noimprovement
He was asked to stay back from boarding the plane.
(A) held out (B) detained

(O notallowed (D} Noimprovement
The artist had finished hard]y by that tige:

(A) The artist had hardly finished by that time.
(B) The artist had finished well by that time.
{C) Hardly had that timé finfshed the artist.
(D) Noimprovement

Direction : In Question oo, 156 to 165, a sentence has been
given in Directy/Indirect. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Indirect/ Direct and mark your answer in the
Answer Sheet.

156.

157.

]ﬂl

159.

She asked me, “How is your father” ?
(A) She asked how father was.

(B) Sheasked me how my [ather was,
(O She asked me how was my father.
(D} She asked him how my father is.

Ravi requested his mother to pass the salt,

(A} Ravi said, “Mother, let’s pass the salt”,
(B) Ravi said, “Mother, pass the salt”.

(O Ravi said, “Mother, salt please”.

(D) Ravi said, “Mother, please pass the salt”.

Gunjan advised me not to start the next day.

{A) Gunjan said, “Will you not start next day” ?
(B) “Don't start tomorrow”, Gunjan said to me.
(O “Don’t start next day”™, Gunjan said to me.

(D) Gunjan told me that, “Don’t start tomorraw 7
Nita said to the teacher, "Could you pleast repeal
the question”™ ?

{4) Nita requested the teaches to repeat the

quesbon, . _
(B} Nita asked theteacher if please she could repeat

the question.
(C) Nitaraquested the teacher whether she could

please repeat the guestion.
(D) Nita asked the teacher whether if she could

repeat the question.

160,

161.

162.

163.

164.

165,

My uncle said, “Iwill be here again tomorrow”.

(A) My uncle said that he would be here again the
next day.

(B) My uncle said that 1 will be here again
tomoTTow.

(O My uncle said that he would be her: again
LOmOTTow. _

@) My uncle said that he would be there again the
next day.,

Mohan's father asked him, *Have you passed the

examination” ¥

(A) His father asked Mohan had he passed the
examination,

(B) Mohan's father asked did he pass the
gamination.

(C) Mohan's father asked him whether he had
passed the examination,

(D) Mohan was asked by his father about passing
the examination.

The boys said, “We were walking 10 kms each day

to reach the camp site”.

(A) The boys said that they would be walking
10 kms each day to reach the camp site.

(B) The boys said that they were walking 10 kms
cach day to reach the camp site.

(C) Theboyssaid that they had walked 10 kms each
day to reach the camp site.

(D) The boys said that they had been walking
10 kms each day to reach the camp site,

Mohan said, “I am going to visit my uncle

tomormow”,

(A) Mohan said he wanted to visit his uncle
HOMOTTow.

(B) Mohan said that he might visit his uncle the
next day.

(O Mohan said that he was going te visit his uncle
the next day. .

(D) Mohan said he would visat hus uncle tomorrow.

Rakesh said to his boss, “Please allow me to do the

preséntition”,

(A) Rakesh requested his boss to let him to do the
jom.

presentati

(B) Rakesh said to his boss to please allow him 1o
do the ton

(C) Rakesh requested his boss to allow him to do
the presentation,

(D) Rakesh requested his boss to please allow him
to do the presentation

The plants are watered by him regularly.
(A) He is watering the plants regularly.
(B) Heis water the plants regularly.

(Q Hewater the plants regularly.

(D) He waters the plants regularly.
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Direction : In Question no. 166 to 185, in the following
passages some of the words have been left out. Read the
passages carefully and choose the correct answer to each
question out of the four alternative and fill in the blanks.
Passage I (Question No. 166 to 175)

The very name “Sundarbans” conjures up
mysterious images of unending creeks, meandering
rivers, 166 marshes and manﬁmmd with _167 .
forests, The wonder of nature, the mangrove, acts as a
natural ___ 168 inst the tidal waves and cyclones
that 169 _ this delta and wash away huge tracts of
land 170 _ human life and flora and fauna. But this gift
to mankind is under__171  of extinction. Rampant
developmental projects have __172 _ havoc upon the
eco-system and tell - tale signs of global warming are all
too visible. Thehuge 173 ofhumans inthe 174 of
eco-tourism mn{ soon result in the majestic king of the

region, the Bengal tiger, becoming a fossilized 175,
166. (A) tiresome (B) fearing
(O) arduous (D) menacing
167. (A) impenetrable (®_ impossible
(Q) accessible ([©)-penctrable
168, (A) dike (B) dam
(C) safeguard (D) mountain
169. (A) restore (B) rescue
(O ravish (D) ravage
170, (A) endangering  (B) encouraging
(O disregarding (D) resisting
171. (A) notice (B) order
(O wamning (D} threat
172. (A) destroyed () brought
(C) wmeaked (C) created
173. (A) crowd (B) milux
(C) gathering (D} arrival
174. (A) garb (B) clothes
(C) disguise (D} cloak
175. (A) replica (B) symbol
() relic () totem

Passage 11 (Question no. 176 to 185)

There areanumber of __ 176 _ reasons not to trével
by a public transport. There isthe _177__of the time-talde,
Then, there are __178__ about getting a seal, waiting at
bus-stops and so on. Yet, there are deeper reasons why
many of us __179 _ away from publictransport. Each of
us has our own setof __180_. and gpinions against public
ransport. _181 _ we are all slaves o advertisements. Car
advertisements _ 182 thengotion of freedom. Motorcycles
areofferedasa wayto _ 183 ourlostyouth. 184  there
is this fecling that we must have our own transport,

185 theoost

176. (A) varying
() vague

(B) forbidden
Dy valid

177. (A) cupidity (B) ferocity
(© atrocity ) rigidity
178. (A) delights (B concerns
() concem (D) obstructions
179. (A) shy (B get
(€ struggle [O) gets
180, (A) understanding (B) frustrations
(© prejudices . (P) ‘principles
181. (A) Consequently (B} Notwithstanding
{Q) Onthecontrary (D) Moreover
182, (A enforce (B) endanger
(©) endure (D) empower
183. (A) resurface (B} recapture
(C) rectify () reinvent
184. (A) Thereafter (B) Although
(C) Asaresult ) Albeit
185. (A) however (B) higher
(C) how much (D) whatever

Direction : In Question no. 186 to 200, you have three brief
passages with 5 questions following each passage. Read
the passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [ @ | in the Answer Sheet.
Passage I (Question No. 186 to 190)

The most frightening aspect of malnutrition is that
itis likely to cause permanent brain damage. Expeniments
carried out on animals suggest that brain damage due to
malnutrition is irreversible. This may not be true of human
beings. Never the less, known facts as well asresults of
tests conducted so far point out alarming condusions. The
human brain grows very fast T months before its birth, the

1
child’s brain weighs Ithr.i the adult’s brain. In1 year,

the brainofa child is already 66% of the weight of the
adulf brain. Atd years the brain weighs 99% and at 8, the
child’s brain is the size of anadult’s and there is no further
inerease. Quite obviously, the first four years are crucial
for the development of the brain. And if the child suffers
from malnutrition, the damage to the brain may well be
permanent.
186. A good nutrition is essential in the first four years of
a child's life because :
{A) At four years the child’s brain is the size of an
adult’s
{B) At four years the brain is fully developed
{C) At four years there is no further increase of the
brain .
(1) Atfour years the brain weighs 99%



www.eenadupratibha.net

187. The theme of the passage is:

188. The meaning of ‘irreversible
(A) unchangeable (B) altered
(O irrelevant (D) changed

189. Find out the word in the passage, which means very
important :
(A) conducted (B) crucial

190. The most serious harm that may be caused by
malnutrition in childhood is: \

(A) Lack of proper size of the brain
(B) Goitre in the neck region

(O Permanent damage of the bram
(0) Improper growth of the brain

Passage Il (Questions N¥o. 191 to 195)

When he heard thata Dutch inventor had invented
something called a spyglass, but was keeping it a secret,
Galileo Galilei decided to work on one of his own. Within
24 hours, he had invented a telescope that could magnify
things to make them appear ten times larger than real life.
One night, he pointed his telescope towards the sky, and
made his first of many space observations : the moon was
not smooth, like everyone thought. The moon was covered
with bumps and craters. As technology has improved,
many others, have made improvements on the telescope,
the wonderful device that allows us to see from a distance.
191. Give asynonym for ‘improvements’.

(A) Decisions (B) Inventions

(O Developments (D) Discoveries

What is the basic definition of a telescope 7
(A) A device that shows multiple objects
(B) A device that magnifies distant objects
() A device that allows us to spy on things
(D) A device that minimizes objects

Whiat is the main theme of the passage?
(A) Galileo and the spyglass

(B) Galileo and his telescope

() Galileo and modem technology
(D) Galileoand the Dutchinventor

What was Galileo's observation of the moon ?

(A) “lts surface was bright and beautiful

(B) Itssurface was smooth

(C) Its surface was both smooth and rough

(D) [ts surface was covered with bumps and craters

192,

193.

194

195. What was the inspiration for Galileos telescope 7
(A) ADutch inventor's modern device
(B) A Dutchinventor’s telescope
(O A Dutch inventor's spyglass

(D) A Dutchinventor’s magnifying glass

Passage [II (Question No. 196 to 200) :

Dance involves our sense of rhythun. Wi have an
innate sense of rhythm in us. From the tige we are in our
mother’s womb, the thythmic rocking we feel as she walks
awakens our instinct of movement. As babies, we are
rocked to sleep. As children, we sing nursery rhymes and
clap or dance along to them. We have already begun
dancing, ‘ln'many countries, dance is indulged in to
cultivate discipline and appreciation for one’s native
culture. For instance, in Africa, many tribes initiate their
children into adulthood through dance. When we have
mastered walking, we leam the rudimentary steps of dance.
From there, we are able to choreograph other steps suited
to the message we wish to convey. Ironically, we are able
to be spontaneous in the midst of discipline.

196. What is the main theme of the passage ?
(A) Dancing to nursery rhymes
(B) Dance and its impartance in life and society
(O Dance teaching discipline
(D) African dances
197. When is the human being first associated with
rhythm ?
(A) Inthe mother's womb
(B) In aballet class
(O During his/her initiation to adulthood
(D) When a baby is rocked to sleep

198. Giveasynohvm for ‘spontancous’.
(A) Instinctive (B) Unnatural
(€) Spendthrift (@) Quick

199.". Why is dance taught in many countries ?

(A) tomaster walking

(B) toattain importance in socety

(Q to gain applause

(D) tocultivate discipline and appreciation of one’s
culture

What is the meaning of the word ‘rudimentary’ ?

{A) Basic (B) Final

[} Secondary (D) Tertiary

=alao=-
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN

w7 74w fafy

jrections : Each question or incomplete
1'7 atement is followed by four alternative
fi,_ﬁgested answers or completions. In each
ﬂﬂge,}fuuuemquiredmmectthemﬁl]ut
& grectly answers the question or completes
4’;.3 statement and blacken [@»] appropriate

val A, B, C or D by Black/Blue Ball-point
";,ﬂ against the question concerned in the
P *

gor VH candidates, corresponding oval
(il be blackened by the scribe)

{he following example illustrates the manner |
q which the questions are reguired to be-

Lﬂgwmd. \ \

ample :
s nNo.'Q =

Out of the four.words given below, three
gre dlike in some way and one is different.
gind the ODD word :

(A) Girl

(B) Boy

(C) Woman

(D) Chair
gxplanation : In the above example, the
correct answer is “Chair” and this answer has
peen suggested at ‘D’. Agcordingly, the
answer is to be indicated by blackening [@»]
the oval by Black/Blue Ball-point pen in
column ‘D against Question No, ‘Q’ in the
manner indicated below :
Question No. ‘Q’

(Al [B] €] |e»]
There is only one correct answer to each
question. You should blacken [@®] the oval

of the appropriate column, wi#., '
A, B, Cor D. If you blacken [@»] morethan

one oval against any one questian, the answer
will be treated as wrong. [lyou wishto cancel
any answer, you should completely erase
that black matk in the oval in the Answer-
Sheet, and theq blacken the oval of revised
resporse,

You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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